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QUESTION 1

Due to a Control Station failure, a customer is now concerned about the availability of their Data Mover in case of a Data
Mover failover. What would you tell the customer? 

A. Control Station needs to be running for a Data Mover failover to occur 

B. Data Mover failover does not depend on the Control Station to occur 

C. Data Mover failover will occur but failback will fail 

D. Data Mover will lose all the connections 

Correct Answer: A 

 

QUESTION 2

What object does a Data Mover use to direct network traffic? 

A. Routing table 

B. ARP table 

C. DNS entry 

D. NIS settings 

Correct Answer: A 

 

QUESTION 3

When exporting a share for CIFS access, which value must be specified? 

A. CIFS server 

B. File system 

C. Full path 

D. Lock option 

Correct Answer: C 

 

QUESTION 4

What is one requirement for creating a file system on the Celerra? 

A. A 1 MB. metavolume must be created 
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B. A 1 MB. slice volume must be created 

C. Must reside on a non-root metavolume that is not in use 

D. Must reside on a non-root slice volume that is not in use 

Correct Answer: C 

 

QUESTION 5

Which protocol uses a native IP stack for transmission? 

A. FCIP 

B. iFCP 

C. iSCSI 

D. SCSI 

Correct Answer: C 
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